大学英语模拟试题（一）
交际英语（共5题） 
1. Thank you for helping me with my homework.　— ____.
  A. Never mind.     B. My pleasure.    C. Quite right.     D. Don’t thank me.
2. Excuse me, how much is the dress?
  — It’s 258 yuan. ____.
  A. Oh, no. That’s OK!　　　　　　　　　　 　　B. Will you take it?
  C. Which one do you prefer?　　　　　　　 　　D. Would you like to try it on?
3. It’s rather noisy outside. Do you mind if I close the window?　—____
  A. Yes, please.     B. No, go ahead.      C. Sure, please.     D. I don’t like it.
4. Could I speak to David Fried, Please?　—____
  A. Speaking, please.   B. Oh, who are you?   C. I am listening.  D. I am David
5. I was worried about my philosophy, but Mr. Lorin gave me an A.　　—____
  A. Don’t worry about it. 　　B. Mr. Lorin is so kind.
  C. Congratulations! 　　　　D. Good luck.

阅读理解（共10题） 
Passage 1
       Every year just after Christmas the January Sales stars. All the shops reduce their prices and for two weeks, they are full of people looking for bargains. My husband and I do not normally go to the sales as we don’t like crowds and in any case are short of money as we have to buy lots of Christmas presents.
       Last year, however, I took my husband with me to the sales at the large shop in the center of London. We both needed some new cloths and were hoping to find a television set. When we got to Oxford Street, it was so crowded that we decided to split up and meet again at the underground station. So I left my husband and started looking around the shops. Unfortunately all the cloths were in very large sizes and so were not suitable for me. But I did buy a television at a very cheap price, so I felt quite pleased with myself.
       When I arrived at the station, my husband was not there. So I sat down in a nearby cafe to have a cup of tea. I quickly finished my tea when I saw my husband and went out to meet him. He looked very happy. Then I saw him was carrying a large and heavy cardboard box. “Oh, dear!” I thought. Yes, we had no new cloths but two televisions. We shall not be going to the sales again.

6. In January ____.
A. lots of people go shopping for discount
B. people have a lot of money to spend after Christmas
C. all the shops close for a two-week Christmas holiday
D. people do nothing
7. In this passage, the word “bargain” could best be replaced by “something ____”
A. giving to people                                                  B. offered at a reduced price
C. offered, sold or bought which is expensive   　　D. sold for the purpose of reaching an agreement
8. The husband and wife in the story ____.
A. wished to buy a TV
B. went to the sales the year before
C. often went to the sales to buy cloths
D. were usually not short of money after Christmas
9. The phrase “split up” in the second paragraph means “____”
A. break apart　　　　　　　　　　　B. cause to break
C. becomes pieces 　　　　　　　　　D. go in different directions
10. After their day’s shopping, they ____.
A. were happy with their bargains                     
B. had got everything they wanted
C. got home than they had hoped for                
D. had to go back to the sales the next day

Passage 2

       At some time in your life you may have a strong desire to do something strange or terrible. However, chances are that you don’t act on our impulse（冲动）, but let it pass instead. You know that to commit the action is wrong in some way and that other people will not accept your behavior. Perhaps the most interesting thing about the phenomenon of taboo（禁忌） behavior is hoe it can change over the years within the same society, how certain behavior and attitudes once considered taboo can become perfectly accepted and natural at another point of time.
Once of the newest taboos in the American society is the topic of fat. Unlike many other taboos, fat is a topic that Americans talk about constantly. It’s not taboo to talk about fat; it’s taboo to be fat. The “in” look is thin, not fat. In the work world, most companies prefer youthful-looking, thin（苗条） executives（经理） to sell their image as well as their products to the public. The fat person, on the other hand, is thought of as lazy and lacking in energy and self-respect. After all, people think how can people who care about themselves, and therefore the way they look, permit themselves to become fat? In an image-conscious society like the US, thin is “in”, fat is “out”.
11. From the passage, we know that taboo is ____.
A. a strong desire to do something strange or terrible
B. a crime committed on impulse
C. a behavior considered unacceptable by the terrible
D. an unfavorable impression left on other people
12. Based on the ideas presented in the passage we can infer that “being fat” ____ in American society.
A. will always remain a taboo
B. is no longer a taboo any more
C. has long been a taboo
D. has not been considered a taboo by most people
13. The topic of fat is ____ many other taboo subjects.
A. the same as 　　　　　B. more popular than
C. different form　　　　　D. less often talked about
14. The words “in” and “out” (last line) mean ____. 
A. inside and outside 
B. more popular than
C. beginning and ending
D. fashionable and unfashionable
15. The expression “image-conscious” society can be replaced by ____.
A. fast-developing society which is built on a clear image
B. the society in which image has been attached importance to
C. the society whose image has been reined because of money
D. very imaginative society with nice appearance

三、词汇与语法（共5题） 
16. A pair of black trousers ____ what I want to buy in the department store.
A. is                             B. are                
C. has                            D. have
17. At that time, Mary ____ on her holiday with her family in Hawaii.
A. is                             B. was            
C. has been                        D. is being
18. So little ____ about physics that I was totally confused by the book.
A. did I know                      B. I had known     
C. did I knew                       D. I know
19. Generally speaking, it is unwise to give a child ____ he or she wants.
A. however                        B. whenever          
C. whichever                       D. whatever
20. Who should be responsible ____ the polluted earth?
A. in                             B. on               
C. for                             D. of

四、完形填空（共10题） 
　　　Modern zoos are very different from zoos that were __21__ fifty years ago. At that time, zoos were places __22__ people could go to see animals from many parts of the world. The animals lived in cages that were made __23__ iron bars, and were easy to keep clean. Unfortunately for the animals, the __24__ were small and impossible to hide in. The zoo environment was __25__ natural. __26__ the zoo keepers took good care of the animals and fed them well, many of the animals did not thrive; they behaved in strange ways, and they often became ill.
       In modern zoos, people can see animals in __27__ natural habitats. The animals are given more __28__ in large areas so that they can live more __29__ as they would in the natural world. Even the appearance of zoos has changed. Trees and grass are planted in the cages, and streams of water are flowing __30__ the areas.
21. A. build            B. built            C. building          D. been built
22. A. which           B. that             C. when            D. where
23. A. from            B. into             C. of               D. up of
24. A. cages            B. zoos            C. caves            D. space
25. A. only             B. anything only    C. but              D. anything but
26. A. Despite          B. Since            C. Now that         D. Although
27. A. more            B. less             C. much             D. very
28. A. freedom          B. food            C. drinks            D. independence
29. A. silently           B. comfortably      C. easily            D. dependently
30. A. across           B. cross             C. through           D. below

五、英译汉（共3题） 
31. Soccer has become the most popular sport in the world.
32. Although traveling by train is slower than by plane, it has its advantages.
33. If you don’t finish your homework within half an hour, your mother will get angry.

六、写作（共1题） 
Instructions： 
建议你在30分钟之内，根据下面给的题目用英语写出一篇不少于80词的短文。 
Where to live – in the City or Countryside
1.一些人喜欢住在城市，因为城市生活有许多便利。 
2.但有些人喜欢住在农村。 
3.我认为，…… 

模拟试题答案与解析
一、交际英语（共5题）
1. B 
　　题干中第一句话的意思是：感谢你帮我做作业。选项A意为“没关系”；选项B意为“我很高兴（这样做）”；选项C意为“非常正确”；选项D意为“不要感谢我”。向他人表示感谢时，答语应该是“My pleasure.”或“It’s a pleasure.”因此，正确答案应该是选项B.选项D (Don’t thank me .) 是汉语的表达方式，可以排除。
2. D
　　题干中第一句话的意思是：请问这件衣服多少钱？选项A意为“噢，不。那样可以”；选项B意为“你买吗”；选项C意为“你喜欢哪一个”；选项D意为“你想试穿一下吗”。选项A与上文没有任何逻辑联系，不符合对话的常理，所以不正确。按常理接下来售货员应该问顾客是否想试穿一下（选项D），而不该说“你买吗”（选项B），因为这样说太突兀，或“你喜欢哪一个”（选项C）,因为顾客已经指明了就是这件，故选项B和选项C均可以排除。因此，正确答案应该是选项D。
3. B
　　题干中第一句话的意思是：外面太吵了，你介意我关上窗户吗？选项A意为“是的，请吧”；选项B意为“不介意，关上吧”；选项C意为“当然，请吧”；选项D意为“我不喜欢”。在向他人征求意见时，回答如果是不介意就应该是 “NO, go ahead.” (不介意，关上吧。)；回答如果是介意，则应该说 “Yes, you’d better not.”。所以，正确答案为选项B。
4. A
　　题干中第一句话的意思是： 我能和大卫•弗雷德讲话吗？选项A意为“我就是，请讲”；选项B意为“噢，你是谁”；选项B意为“我在听”；选项D意为“我是大卫”。在电话用语中，如果接电话的就是他本人，就应该说 “Speaking，please.” 或 “That is … speaking.”，所以正确答案应该是选项A。如果在电话中问“你是谁”，则应该说 “Who is that speaking?” 故可以排除选项B；如果说“我就是”，则应该说 “That is David (speaking). “ 选项C和选项D也可以排除。

5. C
　　题干中第一句话的意思是：我还在担心我的哲学呢，可是劳伦先生给了我一个A。选项A意为“不要为此担心了”；选项B意为“劳伦先生太好心了”；选项C意为“祝贺你”；选项D意为“祝你好运”。听到别人取得成就时，应该表示祝贺，用“Congratulations!”,所以正确答案应该是选项C。 

二、阅读理解（共10题）
6. A
　　细节题。题干的意思是：在一月份会怎样？选项A意为“许多人去买打折的商品”；选项B意为“圣诞节过后，人们有很多的钱可以花”；选项C意为“所有商店在两个星期长的圣诞节期间关门停业”；选项D意为“人们什么也不做“。从文章第一段的第二句话“All the shops reduce their prices and for two weeks, they are full of people looking for bargains.”（所有的商店都降低价格，两个星期内，商店里挤满了找便宜货的人）可以判断选项A应该是正确答案。
7. B
　　词义猜测题。题干的意思是：在这篇文章中，“bargain”这个词被“something…”代替最合适？选项A意为“给人们的”；选项B意为“被降价提供的”；选项C意为“被提供、 卖给或买来而且昂贵的”；选项D意为“为了达到某一协议的目的而卖。”从文章第一段的第二句话“All the shops reduce their prices and for two weeks, they are full of people looking for bargains.”（所有的商店都降低价格，两个星期内，商店里都挤满了寻找便宜的人们）可知，bargain应该就是“被给以降价的东西”，故正确答案应该是选项B。
8. A
　　细节题。题干的意思是：故事中的丈夫和妻子怎么了？选项A意为“想买一台电视机”；选项B意为“前一年去过减价销售区”；选项C意为“经常去减价销售区买衣服”；选项D意为“圣诞节过后经常不缺钱用”。从文章第二段的第二话“We both needed some new clothes and were hoping to find a television set.”可知正确答案应该是选项A。
9. D
　　词义猜测题。题干的意思是：第二段中的词组“split up”的意思是什么？选项A意为“分开”：选项B意为“造成断裂”；选项C意为“变成碎片”；选项D意为“去往不同的方向”。从文章第二段的第三和第四句话“…it was so crowded that we decided to split up and meet again at the underground station. So I left my husband and started looking around the shops.”（……我们决定在地铁站会面。并且我离开了丈夫开始在店里到处看）进行推断可知，他俩应该是分头去买东西，也就是去了不同的方向，所以正确答案应该是选项C。 
10. C
　　细节题。题干的意思是：一天购物结束后，他们怎么了？选项A意为“对他们买的便宜货很满意”；选项B意为“买到了他们需要的所有东西”；选项C意为“他们买了多于他们想要的东西”；选项D意为“第二天不得不再去一次减价区”。从文章最后一段的倒数第二句话“Yes, we had no new clothes but two televisions.”（我们没买到新衣服却买了两台电视。）可知正确答案应该是选项C，即买了两台电视机。
11. C
　　细节题。题干的意思是：从文章来看，我们知道taboo是什么？选项A意为“一种想做一些奇怪或糟糕的事情的强烈愿望”；选项B意为“出于冲动而犯的罪”；选项C意为“一种被看成不为公众所接受的行为”；选项D意为“给别人留下的不好的印象”。从文章第一段的第三句话“You know that to commit the action is wrong in some way and that other people will not accept your behavior”.可知taboo是一种被公众看成是不可以接受的行为，故正确答案应该是选项C。
12. C
　　推理题。题干的意思是：根据文章中提到的想法我们可以推断出“长得胖”在美国社会怎么样？选项A意为“将永远是一种禁忌”；选项B意为“已不再是一种禁忌”；选项C意为“一直以来都是一种禁忌”；选项D意为“一直以来大多数人都不认为是一种禁忌”。从文章第二段的第三句话“It’s not taboo to talk about fat; it’s taboo to be fat.”可以推断出“长得胖”在美国社会长期以来都被看成是一种禁忌，因此正确答案为选项C。
13. C
　　细节题。题干的意思 是：肥胖的话题和许多其他的禁忌话题相比怎么样？ 选项A意为“一样”；选项 B 意为“更流行”；选项 C意为“不同”；选项 D 意为 “被谈论得更少”。 从文章第二段的第二句话 “Unlike many other taboos, fat is a topic that Americans talk about constantly.”可知，肥胖的话题和许多其他的禁忌话题是不同的，它是可以被经常谈论的，因此正确答案应该是选项 C。

14. D
　　词义猜测题。题干的意思是：文章最后一行中“in”和“out”的意思是什么？ 选项 A 意为“里面和外面”；选项 B 意为“勤勉的和懒惰的”；选项C 意为“开始的和结束的”；选项D 意为“流行的 和不流行的”。结合第二段所讲的内容，尤其是此段第四句话和第五句话的内容，即“The “in”look is thin, not fat. In the work world, most companies prefer youthful-looking, thin (苗条) executives to sell their image as well as their products to the public.”可推断出在美国社会人们更喜欢苗条的体型，再利用排除法，可推断最后一句话的意思就是“thin is in fashion, fat is out of fashion”，所以正确答案应该是选项D。

15. B
　　词义猜测题。题干的意思是：“image-conscious society”这个表达方式可以用什么来替换？选项A 意为“一个建立在清晰形象上的快速发展的社会”；选项B 意为“一个对形象高度重视的 社会”；选项C 意为“一个形象被金钱所禁锢的社会”；选项D 意为“一个外表美好且富有想象力的 社会”。image 意为“形象”，conscious 意为“有意识的”，因此“image-conscious society”就是“注重形象的 社会”，根据文章倒数第二句话进行一下确认，可知正确答案应该是选项B。

16. A
　　题干的意思是：我到百货商店要买一条黑色的裤子。本题考查的是主谓一致的问题。当用 a pair of 引导名词作主语时，谓语动词的数 要根据 pair 的数而定，而不是跟of 后的名词的数保持一致。本题中 pair 为单数，因此后面的动词也应该用单数形式， 故正确答案应该是选项A。
17. B
　　题干的 意思是：在那时，玛丽正和她 的家人在夏威夷度假呢。本题考查的是动词时态的问题。句中的时间状语是表示过去的 at that time, 因此动词要用过去时的一般式，故正确答案应该是选项B，并同时可以排除选项A 和选项D。根据句意，没有完成的意思，故可以排除选项C。
18. A
　　题干的意思是：我对物理了解得如此之少以至于我完全被这本书弄糊涂了。本题考查的是倒装的用法。由so+名词或副词引导的词组放在句首表示强调时，句子要采用部分倒装的形式，也就是把助动词提到主语前的形式，故可以排除选项B 和选项D 两个非倒装的形式，而选项C中did已提到主语前就要把knew 还原成 know，因此都可以排除。所以，正确答案应该是选项A。
19. D
　　题干的意思是：一般来讲，一个孩子想要什么就给他 （她）什么是很不明智的。本题考查的是引导宾语从句的关系代词的用法。whatever 意为“不管什么”；however 意为“不管怎样”；whenever 意为“不管什么时候”；whichever 意为“不管哪一个”。根据句意，此关系代词在宾语从句中充当宾语，因此就只能选D （whatever），因为however本身是一个副词，后要加形容词或冠词。whenever 是关系副词，在宾语从句中作地点状语，而whichever后应该加名词构成宾语，故都可以排除。
20. C
　　题干的意思是：谁应该为污染的地球负责呢？本题考查的是固定搭配中介词的用法。根据句意，be responsible 后应该与for 连用，是固定搭配，表示“对 负责”。因此，正确答案应该是选项C。

四、完形填空（共10题）

21. B
　　本题考查的是动词时态的用法。根据句子的意思“现代的动物园和五十年前建造的动物园区别非常大”，再分析句子的结构，因为后面有确切的时间状语 fifty years ago，所以本句的动词应该用一般过去时。又 因为build 和zoo是动宾关系，应该用被动语态，即build的过去分词built。
22. D
　　根据句子的 意思“在那个时候，动物园是人们可以看到来自世界各地的动物园的地方”可知，places后面是一个定语从句，而且关系代词在从句中充当的是地点状语，因此这里只能选择where，即正确答案应该是选项D。
23. C
　　本题考查的 是有make构成的几个动词短语的 区别。Make from 意为“由⋯⋯制造”，看不出原料是什么：make into 意为“把⋯⋯制造”；make of 意为 “由⋯⋯制造”，看得出原料是什么； make up of 意为“构成，组成”，强调部分构成整体。根据句子的意思“动物都关在由铁栅栏做成的笼子里”可知，能看出笼子的材料，因此应该选择make of，即正确答案应该是选项C。
24. A
　　本题考查的是上下文的统一问题。虽说选项中的几个词都可以表示动物所在的地点，可是前面只提到了cages（笼子），在结合句子的意思“对动物们不幸的是，什么很小，不能藏身“，zoos （动物园）范围太大，caves（洞穴）前面根本没有提到，space（空间）意思正确，可它是不可数名词，不能和后面的were连用，可以排除，所以正确答案只能是选项A。
25. D
　　根据句子的意思“动物园的环境决不和自然的一样”可知，四个选项中只有anything but （决不）符合要求，其余的都可以排除，故正确答案是选项D。

26. D
　　根据句子的意思“尽管动物园的饲养员们给动物以很好的照料，并且喂养得 也很好，许多动物还是没能健康地成长；它们行为古怪，而且经常生病”可知，前后两句应该是转折关系。despite 虽然意为“不论，尽管”，但它是介词， 后面只能跟名词或动名词及其短语；since可以表示“自 ⋯⋯以后”引导时间状语， 或表示“因为，既然”引导原因状语；now that 意为“既然”引导原因状语，因此都可以排除。只有although意为“虽然，尽管”，并且可以引导让步状语从句，故正确答案为选项D。
27. A
　　本题主要考查的是上下文的 理解。根据句子的意思“在现代的动物园中，人们能看到动物在怎么样自然的栖息地中”可知，无疑应该是比过去的动物园环境更自然，所以应该用more， less正好相反，much 和very 都没有比较的意味，因此都可以排除，故正确答案应该是选项A。
28. A
　　根据句子的意思，再 结合上下文，动物在更加天然的栖息的当中应该是“在大的区域内被给予了更多的自由（freedom）”。这是过去的动物园所做不到的，以此选项A为正确答案。而食物（food）、 饮料（drinks）、 独立（independence）在过去的动物园中也可以被提供，故都可以排除。
29. B
　　根据上下文的意思，动物在大的空间中被给予了更多的自由，因此它们能像在自然界中那样生活的更加舒服，也就是 comfortably，所以选项B应该是正确答案，而silently（沉默地）、 easily（容易地）和dependently（独立的）都不符合题意，可以排除。
30. C
　　根据句子的意思“笼子里种植着树和草，一股股的水流经这些区域”可知，空白处应表示“流经某地”。如果地表面有树木或建筑物就应该用 through，如果没有可以用 across，而cross不是介词，是一个动词，表示“横过，使交叉”，below表示“在⋯⋯下面”，可以排除故正确答案应该是选项C。

五、英译汉（共3题）
31. 足球已经成为世界上最流行的体育活动。
32. 乘火车旅行比乘飞机慢一些，但它有自己的优势。
33. 如果半小时内你作不完作业，你妈妈 会生气的。

六、写作（共1题）
　　　　　　　　　　　　　　Where to live—in the City or in the Country
　　Some people like living in the city because city life has many advantages. For example, there are more job opportunities in cities; life is more colorful and meaningful in the city than in the countryside, there are more modern conveniences in cities for people to enjoy such as public traffic, shopping malls and restaurants. 
　　However, some other people prefer to live in the countryside. They argue that life in the countryside is closer to nature and better for their health, life there is quieter and that country people are more honest than city people.
As far as I am concerned, I would like to live in the city when I am young to earn money; but when I am old, I prefer to live in the countryside to a quite life. 

